8 A Kab. 8b Kab. 8B Kab.
Pasrosopsl o 208 Pasrosopsl 0 310 Pasrosopsl 0 409
BKHOM B2KHOM BKHOM
= 1 ypok| Pycckuii s3bik 309 Anrebpa 303 Ucropust 311
E 2 ypox Aure6pa 303 Xumust 401 Teorpadust 304
@ 307/403/ 307/403/
=
% 3 ypok XumMus 401 AHT.93BIK 420 AHT.93BIK 420
= [4 ypok OBb3P 305 Hcropus 311 Xumus 401
5 ypok AHTILS3BIK 403/420 I'eomeTpust 303 OO0mecTBO3HAHUE 311
6 ypok I'eomerpust 303 Jluteparypa 310 Anrebpa 108
. 305/417/ . 305/417/
1 ypox ®duszuka 404 2-1 SI3bIK 418 2-1 SI3bIK 418
2 ypok Jlutepatypa 309 buonorus 409 Du3KynpTypa c/3
307/403/ 307/403/
i
= 3 ypok I'eomerpus 303 AHTTLS3BIK 420 AHTTLS3BIK 420
2
é 4 ypoxk 2-# SIXBIK 30151;.4817\ OusKynpTYypa c/3 dusnka 404
S ypok| Pycckwuii si3b1k 309 duznka 404 Ucropust 311
6 ypok AHTILA3BIK 403/420 Anrebpa 303 Pycckuit si3p1k 308
7 VPOK Anredpa 303 I'eomerpus 108
1 ypox Jlutepatypa 309 ['eorpadus 304 Ou3KyIbTYpa c/3
2 ypok Uctopus 311 OB3P 305 Jlutepatypa 308
3 ypok buonorus 409 Xumus 401 Pycckuii si3p1k 308
S 4 ypox AHIIILSI3BIK 403/420 Pycckuii 361K 310 OB3P 305
o 307/403/ 307/403/
=3
O |5 ypox I'eorpadus 304 AHIILA3BIK 420 AHIILA3BIK 420
6 ypok Anrebpa 303 Jlutepatypa 310 I'eorpadus 304
7 ypok T-BEpOATHOCTH I | 553 Anrebpa 108
CTaTHCTUKHU
1 ypok I'eorpadus 304 Ucropus 311 buonorus 409
2 ypok AHIILA3BIK 403/420 I'eomeTpust 303 ®duszuka 404
= 3 ypok dusznka 404 I'eorpadus 304 WNndopmaruka 412/413
0]
2 |4 ypok| O6uiecTBo3HaHuE 311 AHIILA3BIK 307/403/ AHIILA3BIK 307/403/
> 420 420
5 ypok| @uskynbrypa c/3 OO01ecTBO3HAHUE 311 Jlutepatypa 308
6 ypox I'eomeTpus 303 Wundopmaruka | 412/413 I'eomeTpus 108
7 ypok| Wupopmaruka 412/413 dusnka 404 Tpyn 125
1 ypox Hcropus 311 Pycckmii 131k 310
2 ypoxK Xumust 401 Anrebpa 303 Anrebpa 108
< [3YPOK AHIILA3BIK 403/420 buonorus 409 Xnumus 401
= T.BepossTHOCTH 1
=
= 4 ypoxk buonorus 409 dusKynpTypa c/3 CTATHCTHKI 108
E 5 ypok Anrebpa 303 Pycckuii 31k 310 Pycckuii 131 308
6 ypok| Pycckuii s3Ik 309 Tpyn 125 buonorus 409
T.BeposATHOCTH H 307/403/ 307/403/
7 ypox CTATHCTHKI 303 AHIILS3BIK 420 AHIILA3BIK 420




